
Norrköpingsbridgen

2023-12-07  hcp 14 IAF
14 bord, 28 par. Antal brickor: 12. IMP över fältet.

Plac Par Poäng Namn Lag

1 1 2,94 Mats Nilsson - Janne Swanberg Norrköping City
2 6 2,19 Britt-Marie Ericson - Anna-Karin Persson Konstnärerna
3 202 2,13 Göran Forss - Gerd Hemer Pekingeserna
4 306 2,10 Tomas Egneus - Christer Weidenblad Konstnärerna
5 204 1,72 Suzanne Altebo - Kersti Villaume Etna

6 107 1,35 Anita Bergenfors - Anita Nyrén Sputnik
7 7 1,15 Anna Karin Fahlén - Melker Garay Top Lock
8 304 1,06 Stig Fjärstedt - Christer Kindgren Klaven
9 305 0,63 Bo Kvist - Bengt-Göran Holmqvist Höga Odds

10 303 0,44 Solvig Carlsson - Kerstin Nore Zon Terapi

11 3 0,33 Anders Kling - Jan Edvinsson Zon Terapi
12 101 0,21 Arne Klasén - Harriet Philipson Andromedea
13 302 0,06 Stefan Vist - Conny Kling Wisth
14 205 0,03 Carina Larsson - Lennart Henriksson Ryvargarna
15 5 -0,03 Kent Eriksson - Jörgen Forslund Höga Odds

16 102 -0,06 Cathrine Haraldsson - Jacob Markström Pekingeserna
17 301 -0,21 Urban Söderberg - Mattias Furenbäck Norrköping City
18 203 -0,33 Olle Andersson - Hans Stenström IMPOssible
19 103 -0,44 Erja Anttonen - Helen Eriksson IMPossible
20 105 -0,63 Göran Jonsson - Torbjörn Axman Ryvargarna

21 104 -1,06 Magnus Revland - Agneta Östlund Etna
22 207 -1,15 Gösta Windolf - Lena Odén Sputnik
23 307 -1,35 Otto Lindeberg - Britt-Marie Andersson Top Lock
24 4 -1,72 Margareta Arfwedson - Ulla Lexén Klaven
25 106 -2,10 Iréne Lindh - Ingebrit Lood Esson

26 2 -2,13 Bosse Wisth - Tommy Övermark Wisth
27 206 -2,19 Eva Klingspor - Helén Wikström Esson
28 201 -2,94 Magdalena Wennerström - Marie Björnholdt Andromedea



Norrköpingsbridgen

2023-12-07  hcp 14 IAF
14 bord, 28 par. Antal brickor: 12. IMP över fältet.

Bord Par Kontr Ut Resultat Poäng

 13

 KD43
 KD108
 KDkn32
 ---

 1052
 E96
 95
 D10972

 86
 kn75432
 86
 Kkn8

 Ekn97
 ---
 E1074
 E6543

         N
 NS
 Ö
 V

 9  5  3  7  7
 4  8  10  5  6
 3  :  :  :  :

 5  x N -500

1 1 201 2 S +1 8 110       130 -130
2 2 202 4 Ö +1 E -650 -71 71
3 3 203 4 Ö = E -620 -60 60
4 4 204 4 Ö = 9 -620 -60 60
5 5 205 4 Ö = 7 -620 -60 60
6 6 206 3 V = 7 -110 91 -91
7 7 207 2 S -3 K -300 38 -38

101 101 301 4 Ö = E -620 -60 60
102 102 302 3 Ö = E -140 79 -79
103 103 303 4 S -1 kn -100 92 -92
104 104 304 4 Ö = E -620 -60 60
105 105 305 4 V = 9 -620 -60 60
106 106 306 4 Ö = E -620 -60 60
107 107 307 5 S -2 K -200 61 -61

Bord Par Kontr Ut Resultat Poäng

 14

 E98
 D942
 5
 kn7432

 Dkn76542
 3
 7642
 10

 3
 Kkn65
 EDkn3
 E865

 K10
 E1087
 K1098
 KD9

         N
 NS
 Ö
 V

 3  7  3  7  4
 10  5  10  4  9
 :  :  9  :  8

 4   Ö -420

1 1 201 4 N -1 E -50 -13 13
2 2 202 4 S -2 5 -100 -35 35
3 3 203 4 S -2 5 -100 -35 35
4 4 204 4 S -1 5 -50 -13 13
5 5 205 4 S -1 5 -50 -13 13
6 6 206 2x S -1 5 -100 -35 35
7 7 207 3N S -4 5 -200 -66 66

101 101 301 2 N +1 E 140       48 -48
102 102 302 2 S -1 5 -50 -13 13
103 103 303 2 S -4 5 -200 -66 66
104 104 304 1N S -2 4 -100 -35 35
105 105 305 4 N = 3 420       122 -122
106 106 306 4 V -1 6 50       18 -18
107 107 307 5x V -3 10 500       136 -136

Bord Par Kontr Ut Resultat Poäng

 15

 K8
 ED8
 kn96
 kn9854

 kn73
 K752
 73
 KD72

 104
 kn1096
 ED842
 E6

 ED9652
 43
 K105
 103

         N
 NS
 ÖV

 5  4  5  9  6
 7  9  8  4  7

 4  x V 100

1 1 201 2 S +1 4 140       40 -40
2 2 202 3 Ö +1 10 -130 -55 55
3 3 203 1 S +2 6 140       40 -40
4 4 204 1N V -2 2 100       27 -27
5 5 205 3 S -1 8 -100 -42 42
6 6 206 4 Ö -2 E 100       27 -27
7 7 207 1N V -2 2 100       27 -27

101 101 301 3 Ö = 10 -110 -43 43
102 102 302 3 S = 5 140       40 -40
103 103 303 3 S = kn 140       40 -40
104 104 304 3 S = 6 140       40 -40
105 105 305 4 S -1 E -100 -42 42
106 106 306 3N V = 2 -400 -127 127
107 107 307 2 S = 8 110       28 -28

Bord Par Kontr Ut Resultat Poäng

 16

 E753
 EDkn7
 542
 96

 10982
 865
 E63
 D102

 K4
 1043
 D97
 EK873

 Dkn6
 K92
 Kkn108
 kn54

         N
 NS
 ÖV

 4  4  3  5  5
 9  7  10  8  8

 4   V -620

1 1 201 2 V -1 10 100       66 -66
2 2 202 1N Ö +1 D -120 -14 14
3 3 203 2N Ö = kn -120 -14 14
4 4 204 1N Ö +2 10 -150 -25 25
5 5 205 2N Ö = kn -120 -14 14
6 6 206 2 V +2 10 -130 -15 15
7 7 207 1 V +2 E -140 -24 24

101 101 301 2N Ö = 10 -120 -14 14
102 102 302 2N Ö +1 kn -150 -25 25
103 103 303 2N Ö = 8 -120 -14 14
104 104 304 1N Ö +2 8 -150 -25 25
105 105 305 1N Ö +1 kn -120 -14 14
106 106 306 3N Ö -1 8 100       66 -66
107 107 307 3 Ö -1 10 100       66 -66

Bord Par Kontr Ut Resultat Poäng
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 EKD63
 K5
 105
 Kkn43

 10872
 64
 K97
 7652

 94
 732
 kn432
 D1098

 kn5
 EDkn1098
 ED86
 E

         N
 NS
 ÖV

 4  8  10  5  6
 9  4  3  7  4

 5  x Ö 300

1 1 201 3N N = 2 400       75 -75
2 2 202 4 S -1 E -50 -74 74
3 3 203 3 S +1 E 170       3 -3
4 4 204 3 S = E 140       -9 9
5 5 205 4 S = D 420       84 -84
6 6 206 2 S +2 10 170       3 -3
7 7 207 3 S +1 E 170       3 -3

101 101 301 3 V -1 6 50       -43 43
102 102 302 3 N = 9 140       -9 9
103 103 303 3 S = E 140       -9 9
104 104 304 4 S = E 420       84 -84
105 105 305 3 S = E 140       -9 9
106 106 306 4x S -1 E -100 -90 90
107 107 307 2 S +1 E 140       -9 9

Bord Par Kontr Ut Resultat Poäng
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 D83
 ED96
 E2
 10762

 K754
 kn1074
 10
 Dkn43

 E1062
 K53
 Dkn95
 95

 kn9
 82
 K87643
 EK8

         N
 NS
 ÖV

 6  6  5  5  5
 7  6  8  8  8

 2N Ö -120

1 1 201 2N Ö -1 7 50       46 -46
2 2 202 2 S -2 6 -200 -40 40
3 3 203 2 S = 3 90       60 -60
4 4 204 2 S -2 8 -200 -40 40
5 5 205 2 V = 10 -110 -5 5
6 6 206 2 Ö -1 8 50       46 -46
7 7 207 2 V = 10 -110 -5 5

101 101 301 2 S -1 3 -100 -4 4
102 102 302 4 Ö -2 E 100       64 -64
103 103 303 2 Ö -1 K 50       46 -46
104 104 304 3 S -3 8 -300 -74 74
105 105 305 2N N -2 6 -200 -40 40
106 106 306 1N V +1 10 -120 -14 14
107 107 307 2 S -2 D -200 -40 40



Norrköpingsbridgen

2023-12-07  hcp 14 IAF
14 bord, 28 par. Antal brickor: 12. IMP över fältet.

Bord Par Kontr Ut Resultat Poäng
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 Kkn1098
 3
 865
 ED63

 3
 D872
 kn10732
 kn105

 E7652
 K105
 K9
 K82

 D4
 Ekn964
 ED4
 974

         N
 NS
 Ö
 V

 3  7  8  2  3
 10  5  5  11  10
 9  4  4  10  6

 5   Ö -650

1 1 201 3 V = 7 -140 61 -61
2 2 202 3 V +2 2 -200 38 -38
3 3 203 3 V +1 2 -170 50 -50
4 4 204 4 V +1 7 -650 -95 95
5 5 205 3 V +1 2 -170 50 -50
6 6 206 3 V +1 2 -170 50 -50
7 7 207 3 V +1 kn -170 50 -50

101 101 301 3 V +2 7 -200 38 -38
102 102 302 5 S -3 8 -150 61 -61
103 103 303 4 V = 7 -620 -86 86
104 104 304 3 V +1 D -170 50 -50
105 105 305 4 V = kn -620 -86 86
106 106 306 4 V +1 7 -650 -95 95
107 107 307 4 V = 7 -620 -86 86

Bord Par Kontr Ut Resultat Poäng

 20

 kn
 102
 K43
 EKD8432

 D7643
 E864
 6
 kn95

 K95
 Dkn753
 kn72
 106

 E1082
 K9
 ED10985
 7

         N
 NS
 Ö
 V

 5  10  8  12  5
 7  3  4  1  7
 :  :  :  :  4

 6Nx Ö 1400

1 1 201 3 N +1 10 170       20 -20
2 2 202 3 S +1 E 130       7 -7
3 3 203 4 V -1 6 100       -5 5
4 4 204 5 V -4 E 400       93 -93
5 5 205 3 V -2 6 200       32 -32
6 6 206 4 V -2 6 200       32 -32
7 7 207 3 V -1 6 100       -5 5

101 101 301 4 N -2 10 -200 -95 95
102 102 302 5 N -4 10 -400 -141 141
103 103 303 4 Ö -2 E 200       32 -32
104 104 304 4 S -1 E -100 -66 66
105 105 305 3 V -2 6 200       32 -32
106 106 306 4 Ö -2 E 200       32 -32
107 107 307 4 V -2 6 200       32 -32

Bord Par Kontr Ut Resultat Poäng
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 D
 kn42
 K10853
 9862

 kn74
 K63
 92
 Ekn1054

 K832
 10987
 kn64
 K3

 E10965
 ED5
 ED7
 D7

         N
 N
 S
 Ö
 V

 10  7  9  10  9
 :  :  :  :  10
 3  5  4  3  2
 :  :  :  2  :

 4N S 630

1 1 201 4 S = 2 620       45 -45
2 2 202 4 S -2 9 -200 -145 145
3 3 203 4 S = D 620       45 -45
4 4 204 4 S -1 kn -100 -126 126
5 5 205 4 S +1 3 650       58 -58
6 6 206 4 S = 8 620       45 -45
7 7 207 4 S +1 8 650       58 -58

101 101 301 4 S = 6 620       45 -45
102 102 302 3 S +2 5 200       -71 71
103 103 303 4 S -1 2 -100 -126 126
104 104 304 4 S = 8 620       45 -45
105 105 305 3N S +1 5 630       46 -46
106 106 306 3N S = 3 600       35 -35
107 107 307 3N S +1 8 630       46 -46

Bord Par Kontr Ut Resultat Poäng
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 K6432
 E105
 E3
 D65

 Ekn95
 82
 KD864
 E10

 10
 Dkn74
 kn92
 Kkn742

 D87
 K963
 1075
 983

         N
 NS
 Ö
 V

 4  7  5  6  4
 9  5  8  6  5
 :  :  :  7  9

 4  x S -500

1 1 201 3 N -1 10 -50 -22 22
2 2 202 2N V -1 6 100       31 -31
3 3 203 3 N = 10 110       34 -34
4 4 204 2 Ö -1 5 100       31 -31
5 5 205 2 V +1 K -140 -56 56
6 6 206 2 N = 10 90       28 -28
7 7 207 2 N +1 10 110       34 -34

101 101 301 2 V -2 K 200       66 -66
102 102 302 2 N -1 10 -50 -22 22
103 103 303 2 N -1 10 -50 -22 22
104 104 304 2 N -1 10 -50 -22 22
105 105 305 2 V +2 K -170 -64 64
106 106 306 3 V = K -110 -44 44
107 107 307 2 N = 10 90       28 -28

Bord Par Kontr Ut Resultat Poäng

 23

 EKkn10
 ---
 Dkn10842
 kn102

 D
 EK9732
 93
 E983

 9853
 kn105
 K75
 D64

 7642
 D864
 E6
 K75

         N
 N
 S
 ÖV

 9  3  10  5  9
 10  :  :  :  :
 3  9  2  8  4

 4  x V 500

1 1 201 4 N +1 K 650       54 -54
2 2 202 4 N +1 5 650       54 -54
3 3 203 3 N +1 K 170       -91 91
4 4 204 3 N +1 5 170       -91 91
5 5 205 5x V -1 E 200       -82 82
6 6 206 4 N = 5 620       44 -44
7 7 207 4 N = 3 620       44 -44

101 101 301 4 N +1 5 650       54 -54
102 102 302 4 N +1 5 650       54 -54
103 103 303 4 N +1 5 650       54 -54
104 104 304 4 N = 5 620       44 -44
105 105 305 4 N = 5 620       44 -44
106 106 306 3 N +1 K 170       -91 91
107 107 307 3 N +1 5 170       -91 91

Bord Par Kontr Ut Resultat Poäng

 24

 108
 42
 Kkn1092
 E974

 Ekn96
 D9
 E754
 KD6

 D542
 EK1085
 D8
 kn2

 K73
 kn763
 63
 10853

         N
 NS
 ÖV

 7  5  7  8  6
 5  7  6  5  6

 2   N 110

1 1 201 3 S -3 2 -150 -43 43
2 2 202 2 V = K -110 -28 28
3 3 203 2 Ö -1 6 50       25 -25
4 4 204 1N N = E 90       40 -40
5 5 205 2 Ö -2 6 100       43 -43
6 6 206 2 Ö -1 3 50       25 -25
7 7 207 2 Ö -1 3 50       25 -25

101 101 301 1N N = K 90       40 -40
102 102 302 1N N -2 5 -100 -27 27
103 103 303 2 N -1 E -50 -9 9
104 104 304 2x Ö +1 3 -570 -146 146
105 105 305 2 Ö = 3 -110 -28 28
106 106 306 2 Ö -2 6 100       43 -43
107 107 307 1N N = E 90       40 -40


